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18

Two purses ticked as shown:

Accept any other clear way of indicating
the comrect response, eg joining the two
purses.

Do not award the mark If more than
two purses are indicated.

* Accept the correct amounts written
by every purse, even if the correct two
purses have not been ticked
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21 Amounts ticked as shown: 1 Al three amounts must be correct for

= —~ the award of the mark.
/159 v Accept any other dear way of indicating
the correct amounts, eg circing.
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"

Ticks drawn on
three 20p coins
one 10p coin

one 2p coin

Accept any dear way of indicating the.
cortect combination of coins.

Do not award the mark for a different
‘combination of coins that total 72p.
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‘Three coins ticked as shown:

Dee®

Four coins ticked as shown:

Hoap:

m

Accept any other clear way of indicating
the correct coins.

Accept any other clear way of indicating
the correct coins.
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‘Goins matched 1o the correct boxes as shown:

m

Al four coins must be matched correctly
forthe award of the mark

Accept any other clear way of indi
the correct answer

ting

Do not award the mark I a coin
Is matched to both boxes.
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LG

1m | Accept the answer £0.93p

Do not award the mark for 0.93p or £93p
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16| 80(p)

m

Do not award the mark if the correct coins
are indicated but their total value of 80p.

is not given, e.g. 50p, 20p, 10p circled
without a total.
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Award the mark for any combination of coins.
indicated that totals 45p, .g.

1m

Accept any other clear way of indicating a
correct combination of coins, i..

20p, 20p and 5p
or

20p, 10p, 10p and 5p
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Correct purse Indicated as shown:

m

Accept any other clear way of indicating
the correct answer.

Do not award the mark if more than
one purse has been indicated, unless
itis clear that the correct purse is the
pupil's final choice.
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“The following five coins given in any order:
10p, 10p, 10p, 5p, 2p

or

209, 10p, 55, 1p, 1p

oR

20p, 5p, 5p. 5. 20

m

Al five coins must be correct for the
‘award of the mark.

Numbers may be written in any order.

Do not award the mark if aditional

incorrect numbers are given as part
of the answer.
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Accept any other clear way of indicating
the correct purses.

Do not award the mark if additional
purses are indicated, unless it is clear the
correct purses are the pupil's final choice.
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31(p)
or

10p less than the amount
given for Q8 even if Q8
was not correctly.
answered.
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350)

Do not accept an Indcation of the correct
coins unless the corect answer is also

‘wiitten elsewhere in the answer space.
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16 (coins) 2
or
“This mark may be awarded 1

for children who have a
‘Wrong answer between 13
and 19 indusive and a
complete and correct
‘method that is
communicated dearly.

Use the acceptable and
unacceptable responses.

given on pages 44 and 45
to help make your decision

Award both marks for the correct answer
by entering 1 in each mark box.

* Achikd with a correct answer can be
awarded two marks even If they have
falled to record an appropriate method or
any method at al, since it can be assumed
that they used a correct mental method to
reach their answer.

1f mark awarded, enter a 1 then 0 in the
mark boxes.

One mark may be awarded to
children who have fafled to record the.
correct answer, provided they have
demonstrated a complete and correct
method for identifying the number of 20p
coins needed to make £3.20 and have
given an answer between 13 and 19
inclusive. This method might be numerals,
signs, words or diagrarms or any mixture
of these)




